Terms and Conditions - MID-AUTUMN FESTIVAL 2025

1. PROMOTER

The promoter, [ISPT Pty Ltd and AWPF Management No 2 Pty Ltd C/O JLL (NSW) Pty Ltd , ABN: 37 002 851 925] ("World Square", "us," "our" or "we") , conducting the promotion known as "MID-AUTUMN FESTIVAL – SPEND & WIN" ("Promotion") for promotional purposes. The promoter's address is Level 8, 644 George Street, Sydney NSW 2000. Email:marketing@worldsguare.com.au

Any questions or concerns regarding the Promotion should be directed to the promoter.

2. PROMOTION PERIOD

The Promotion commences on Saturday, 4 October 2025 at 12:00pm (AEST) and closes on Sunday, 19 October 2025 at 6:00pm (AEST) ("Promotion Period"). Entries received outside this period will not be accepted.

3. ELIGIBILITY & ENTRY

- Entry is open to Australian residents aged 18 years or over.
- Employees, agents and contractors of the promoter, participating retailers, associated agencies, and their immediate families (spouse, parent, child, sibling, and their respective spouses) are ineligible.
- The Promotion is subject to all applicable federal, state and territory laws and regulations.
- To enter, participants must spend \$30 or more in a single transaction at any participating retailer within World Square during the Promotion Period, then upload a copy of the receipt to the Promotion microsite: [https://a.cstmapp.com/p/1001119].
- The personal details submitted must be true and correct. The promoter may request proof of identity and proof of purchase to validate an entry.
- Multiple entries are permitted, provided each entry is submitted separately and supported by a separate eligible purchase.
- A full list of participating retailers is provided in Schedule 1. All other retailers, including POP MART, are excluded from this Promotion.

4. WINNER SELECTION & PRIZES

4.1 Winner Selection

- Winners will be selected randomly using Easypromos' random winner picker tool.
 This platform ensures transparency, generates a certificate of validity, and guarantees the results cannot be altered.
- Winners will be notified instantly via the Promotion microsite and provided with a code to redeem their prize from the Fortune vending machine located on the Ground Floor of World Square.
- If a winner does not redeem their prize from the vending machine before the Sunday, 19 October 2025 at 6:00pm (AEST), the prize will be forfeited and may be subject to a redraw in accordance with the requirements of the relevant state and territory regulations.

4.2 Prizes

```
The prizes include but are not limited to the following:
```

- 2 x \$250 DJI Store Gift Vouchers \$500
- 30 × \$10 World Square Gift Cards \$300
- 10 × \$20 Momoto Sushi Gift Vouchers \$200
- 30 x Venchi Free Mini Gelato \$7.20 each (\$216)
- 5 × \$10 Sushi Hub Gift Vouchers \$50
- 40 × Hungry Jack's Whoppers \$9.60 each (\$384)
- 40 × Hungry Jack's Barista Coffees \$3.55 each (\$142)
- 40 × Hungry Jack's BBQ Brekky Wraps \$7.55 each (\$302)
- 40 × Hungry Jack's Jack's Fried Chicken \$11.30 each (\$452)
- 21 × Daniel's Donuts Free Donut Vouchers \$4.90 each (\$102.90)
- 10 x Pink Peppa Pig Plastic Bottle \$29 each (\$290)
- 10 x Green Peppa Pig Stainless Steel Tumbler \$29 each (\$290)
- 1 x THE MONSTERS Exciting Macaron Vinyl Face (Blind Box) \$32
- 3 x SKULLPANDA The Paradox Series Figures \$22 (\$66)
- 1 x SKULLPANDA The Sound Series Figures \$22
- 2 x SKULLPANDA Image Of Reality Series Figures \$22 (\$44)
- 2 x CRYBABY Crying Again Series Figures \$22 (\$44)
- 1 x MOLLY Carb-Lover Series Figures \$22
- 1 x Baby Molly & Baby Tabby Series Figures \$22
- 1 x CRYBABY Monster Tears Series \$22
- 1 x CRYBABY x Powerpuff Girls Series Figures \$22
- 1 x CRYBABY CHEER UP, BABY! SERIES-Bracelet Blind Box \$15.99
- 1 x Baby Molly When I was Three! Series Figures \$22
- 300 x Knitted Gift Gag \$3.50 each (\$1,050)
- 300 x Rabbit and Mooncake Figures \$4.75 each (\$1,425)
- 400 x Cute Bunny Keychain Plush \$3.50 each (\$1,400)

Total Prize Pool Value: \$8,441.90

Prizes are not transferable, exchangeable or redeemable for cash. The promoter reserves the right to substitute a prize with one of equal or greater value if any advertised prize becomes unavailable.

5. LIMITATIONS & DISQUALIFICATION

- Entries may be deemed invalid if incomplete, indecipherable, or fraudulent.
- The promoter reserves the right to disqualify any participant who tampers with the entry process or breaches these Terms.

6. COMMENTS & CONTENT

Participants must not post comments or content that are defamatory, offensive, discriminatory, infringe third party rights, or otherwise inappropriate. Such entries may be disqualified.

7. LIABILITY

Nothing in these Terms excludes, restricts, or modifies any consumer guarantees, rights or remedies conferred by the Australian Consumer Law (ACL) or any other applicable law that cannot be excluded.

Except for liability which cannot be excluded under the ACL:

- the promoter, its related entities, officers, employees and agents exclude all liability (including negligence) for any personal injury, loss or damage (including loss of opportunity); and
- are not responsible for technical errors, theft, destruction, or unauthorised access affecting entry or the Promotion.

The promoter's maximum liability is limited to the value of the prize awarded.

8. DATA PROTECTION & PUBLICITY

- Personal data collected will be used for the administration of the Promotion and to contact winners.
- Entrants consent to the promoter using their name, likeness and entry for reasonable promotional purposes in any media, without notice or compensation.
- Personal information will be handled in accordance with the promoter's Privacy Policy: https://worldsquare.com.au/privacy-policy
- Entrants may request access to, correction, or deletion of their data in accordance with the Privacy Act 1988 (Cth).

9. AMENDMENTS

The promoter reserves the right to modify, suspend or cancel the Promotion if it cannot be conducted as reasonably anticipated due to factors beyond its control, subject to regulatory approval where required.

10. GOVERNING LAW

These Terms are governed by the laws of New South Wales. Entrants submit to the non-exclusive jurisdiction of the courts of NSW.

11. AUTHORISATIONS

This Promotion is authorised under the following permits: AUTH NSW TP/04316.

Schedule 1 – Participating Retailers:

Abb Air Thai	Sky Beauty	Coco Tea	The Bavarian
Hokkaido x	Brooklyn Bridge	Mint My Desk	Dr Martens
PAFU	Deli	Star Phones	Mobile Phone
Raffine Tokyo	Kumo Kumo	DJI Drones	Hospital
Bengong Metro	Smart Tone	Minus Seven	The Gardens
Hungry Jacks	Bupa Optical	Sushi Hub	EB Games
Ramen Zundo	Masala Kitchen	DJ's Creative	Moe & Co
Boost Juice Hype	SMFK	Hair	The Naked Duck
DC	Calvin Klein	Miss Coconut	Edition Coffee
Skechers	Max Brenner	Suttons UGG	Momoto
Breadtop	Soul Origin	Dollar Avenue	The North Face
Krazy Bird	(Coles)	Mixue	Fishbowl

Mr Chaixi
Top Juice
Fortune Alley
Mr Chef
Twinkle Glory
Gami Chicken
and Beer
Nails Avenue
Umaya
Georgie Boy's

Nails Boulevard Universal Store Glue Store Noodles Your Way Venchi Gojima Oxford Shop W Cosmetics Gong Cha Tea Oz Hair & Beauty World News Gotcha x Bingsu Daniel's Donuts World Square Bar Grill'd Pandora Yayoi

Guzman Y

Gomez
Peter Alexander
Toros Kebabs
Helly Hansen
Peter Jackson
Hero Sushi
Pie Face